DU MA in Life Long Learning N Extension

Topic:- DU_J19_MA_LLLE

1) Which of the following is the largest source of water pollution in major rivers of India?

ol % @ $19 yRa 9t wiga At d S uguor &1 g9 397 9id 8?
[Question ID = 13673]

1. Agricultural run off / $fY §8Td [Option ID = 24690]

2. Religious practices / e raif [Option ID = 24692]

3. Untreated sewage / U@ ¥dsT [Option ID = 24689]

4. Unregulated small scale Industries / &@T%?f?f% I [Option ID = 24691]

Correct Answer :-

« Untreated sewage / 3UaTRd Hdsl [Option ID = 24689]

2) Which one of the following is not the tool of good governance?

fFrafafEa & ¥ S19 91 g 31 IudIor T8 72
[Question ID = 13685]

1. Judicial Activism / =T Hfehaar [Option ID = 24740]

2. Citizens' Charter / TFTR® TR [Option ID = 24738]

3. Social Auditing / TTHTRST® 3fd&f0T [Option ID = 24739]

4. Right to information / Jd-T o1 SBHR [Option ID = 24737]

Correct Answer :-
« Judicial Activism / <aTR& FfdhddT [Option ID = 24740]

3) Which one is correct about E — BASTA.

g-g&ITP 9R A B9 IT 98l 81
[Question ID = 13654]

1. Its Digital India initiative / I8 f$fSTed $f&ar &t ugd 81 [Option ID = 24613]

2. Its provide study material / I8 &I it U HRd % [Option ID = 24614]

3. Collaborative platform for book publisher, School teacher and students. / G¥d&® UhIRIP, Ih e SR B & NS RRIRIGEED
Hd| [Option ID = 24615]

4. All above are correct. / IRIad g+t T B [Option ID = 24616]

Correct Answer :-
» All above are correct. /G'Clﬁ?ﬁ Tt gt %I [Option ID = 24616]

4) Common salt found in sea water is called as-

g & U H U 9 9rar 3 THE Y $8T W16l 8- [Question ID = 13661]

1. PotatiumChloride / TYe¢feTH TRTIZS [Option ID = 24643]
2. Calcium carbonate / e’ BTai-ic [Option ID = 24642]
3. Magnesiumsulphate / IR gehe [Option ID = 24644]
4. Sodium chloride / TIf$TH TARIES [Option ID = 24641]

Correct Answer :-

« Sodium chloride / TfETH FIRTSS [Option ID = 24641]



5) Which was the first newspaper published in India?

YRd # UBTRIG 819 aTeT Ugdl GHER U B9 IT 412 [Question ID = 13626]

1. Bengal gazette / STTTQ TiC [Option ID = 24502]

2. Pune chronicle / E[Eﬁ ARG [Option ID = 24503]
3. Indian gazette / YR ST [Option ID = 24501]
4. Indian capsule / un?ﬁu%cg[a [Option ID = 24504]

Correct Answer :-
« Bengal gazette / ST TTSI¢ [Option ID = 24502]

6) Information, a combination of graphics, text, sound, video and animation is called

AT, e, Ure, w@afy, df$at ik TR &1 ue "aleiH %81 9TaT 8 [Question ID = 13682]

1. Multimedia / HeciHifSdT [Option ID = 24727]

2. Multiprocess / AW [Option ID = 24728]

3. Multiprogramme / A uTay [Option ID = 24725]
4. Multifacet / AeI®hYe [Option ID = 24726]

Correct Answer :-
« Multimedia / AecIHIfSaT [Option ID = 24727]

7) HIV Stands for

TS BT JATUT B

[Question ID = 13678]

1. Human Immunodeficiency Virus / 8909 3RS RIAMT aIRY [Option ID = 24710]
2. Human Immuno Virus / 88 SRIAT 99 [Option ID = 24709]

3. Human Internal Virus / 8gHT $e3-d aIARY [Option ID = 24711]

4. None of these / 375 ¥ @13 -Tg! [Option ID = 24712]

Correct Answer :-
« Human Immunodeficiency Virus / 809 3RS thIRIIE! dRRY [Option ID = 24710]

8) Millennium Development Goals were

firfaw Saeude M & [Question ID = 13680]

1. 17 / 17 [Option ID = 24719]
2.12 / 12 [Option ID = 24718]
3. 20 / 20 [Option ID = 24720]
4. 8 / 8 [Option ID = 24717]

Correct Answer :-
e 8/ 8[Option ID = 24717]

9) DDU-GKY is a programmes of

SIS1g-SN¥Fars &1 U HRIHH § [Question ID = 13701]

1. Skill training / ST=TE URI&UT [Option ID = 24801]

2. Housing / 3{1dT¥ [Option ID = 24802]

3. Water conservation / STd TR&10T [Option ID = 24804]
4. Nutrition / JTSUT [Option ID = 24803]

Correct Answer :-
« Skill training / HTRT URTETT [Option ID = 24801]



10) Mumbai Attack of 2008 by terrorists is also known as

JTdPparedl gRT 2008 & HS gHA ®1 i ST ST @ [Question ID = 13704]

1. 26/11 / 26/11 [Option ID = 24815]
2. 13/11 / 13/11 [Option ID = 24816]
3.9/11/ 9/11 [Option ID = 24813]

4. 20/11 / 20/11 [Option ID = 24814]

Correct Answer :-
e 9/11/9/11 [Option ID = 24813]

11) Which among the following is a direct tax?

frrafafaa & § 19 J1 Uual # 82 [Question ID = 13634]

1. Wealth Tax / Y9 X [Option ID = 24533]

2. Sales Tax / fo@ &2 [Option ID = 24535]

3. Entertainment Tax / HHIRSIH &< [Option ID = 24536]
4. Excise Tax / UaTSS <& [Option ID = 24534]

Correct Answer :-
o Wealth Tax / Y9 ®X [Option ID = 24533]

12) Which among the following was the first Woman Nobel Laureate?

fFrafafEa & ¥ $17 vseh ufeer Ti9a R¥eR faSar fi? [Question ID = 13692]

1. Irene Joliot Curie / 3314 Siiciic &XT [Option ID = 24767]
2. Marie Curie / EEEdl ERI\PI [Option ID = 24765]

3. Aung San Suukyi / 3T 91 gl [Option ID = 24768]

4. Dorothy Hodgkins / SR 8SIfds= [Option ID = 24766]

Correct Answer :-
« Marie Curie / % & [Option ID = 24765]

13) Select grammatically correct answers from the given options.
.............. of Cholera was reported in city of alpha.’

fou e fareul A A TP FU A T IR BT I B
.............. PTG | goI BT I firedt

[Question ID = 13707]

1. Spread / TelTHT [Option ID = 24826]
2. Break out / U¥IR [Option ID = 24827]
3. Break / fovraT [Option ID = 24825]
4. Out break / U&IY [Option ID = 24828]

Correct Answer :-
« Out break / UoIT [Option ID = 24828]

14) Vocational education focused on

AT e e Higd a1 g
[Question ID = 13690]

1. Skill improvement / SI=Ie YR [Option ID = 24759]

2. Knowledge improvement / Slﬁff{[%rl? [Option ID = 24757]

3. Health improvement / ¥T®4 o JUR [Option ID = 24760]

4. Life status improvement / Site ot fufa o JUR [Option ID = 24758]



Correct Answer :-
 Skill improvement / Wﬁ“cﬂ'\’ [Option ID = 24759]

15) Chief Minister of Arunachal Pradesh is

PV Y= & FBIHAT § [Question ID = 13703]

1. KonardSangama / PHTS TITH [Option ID = 24811]

2. SarbanandSonowal / Tai-ig JIHIATe [Option ID = 24810]
3. Biplab Das / IELESEEARS] [Option ID = 24812]

4. PemaKhandu / UHT 7g [Option ID = 24809]

Correct Answer :-
« PemakKhandu / THT ®ig [Option ID = 24809]

16) ‘Chauraha’ is a programme of literacy through

"HRTET HI&RHT T U HTUHH & [Question ID = 13639]

1. Book Primer / § UTSHR [Option ID = 24555]
2. TV social / <14t SRS [Option ID = 24556]
3. Broad sheet / i1 ®fic [Option ID = 24554]
4. Radio / &3 [Option ID = 24553]

Correct Answer :-
« TV social / €ldl TN [Option ID = 24556]

17) Which continent consists largest population density-

fra AETEIU # G JST S=¥EIT U 8- [Question ID = 13660]

1. Africa / 3{WBIT [Option ID = 24637]

2. Asia / TR [Option ID = 24639]

3. Europe / @U [Option ID = 24640]

4. Australia / SRCTerIT [Option ID = 24638]

Correct Answer :-
« Asia / TRET [Option ID = 24639]

18) Identify incorrect statement about the parliament of India.

YR & 6 b IR § DIH-A1 HU T 781 82
[Question ID = 13656]

1. Financial control by parliament / T8¢ gRT fa<iig fAT=01 [Option ID = 24623]

2. Its consists of the LokSabha and RajyaSabha / =a# ABTHT 3R ITIHT A & [Option ID = 24621]

3. The normal term of the LokSabha is five year. / ABIHT BT AT BB Ui ay bl g %I [Option ID = 24624]
4, The main function of Parliament is making law. / ¥9¢ WH@IW%@I - fmfor 31 [Option ID = 24622]

Correct Answer :-
« Its consists of the LokSabha and RajyaSabha / T&# AHTHT 3R ISTGHT e % [Option ID = 24621]

19) Ecology deals with

TR o1 WReR &
[Question ID = 13694]

1. Birds Sanctuary / G&ft 314IRTY [Option ID = 24773]
2. Tiger Project in Sunderban / &&= ® a9 RIS [Option ID = 24774]
3. Relation between organisms and their environment / Siial 3R 3% TafdRur & o9 Yael [Option ID = 24775]



4, Tissue Culture / 3d® Tayq [Option ID = 24776]

Correct Answer :-
» Relation between organisms and their environment / Sitat 3R I TafeRwT & S Tay [Option ID = 24775]

20) The most comprehensive source of population data is?

SEBAT ST HT G99 ATIS HAld 82 [Question ID = 13718]

1. Decadal Census / SHISA SFRTUMT [Option ID = 24869]

2. Demographic Health surveys / SFRITRIIGII TR [A&UT [Option ID = 24871]
3. National Family Health Surveys / QTQ‘W URGR WA Fa&fur [Option ID = 24872]
4. National sample surveys / JT$TI THAT HA&UT [Option ID = 24870]

Correct Answer :-
o Decadal Census / SHISA SO [Option ID = 24869]

21) The most significant impact of Volcanic eruption has been felt in the form of which of the following?

SaTaTg! fapie o1 gad Aeayul yHTe Fafifed § 9 f$ad v & gegy far a1 82 [Question ID = 13672]

1. Sinking in islands / 1df & &1 [Option ID = 24686]

2. Loss of vegetation / G-Il &1 Jh YT [Option ID = 24687]
3. Change in weather / HI9H & &g [Option ID = 24685]

4. Extinction of animals / Er-‘lléﬁ CIRERILE] [Option ID = 24688]

Correct Answer :-
« Change in weather / ogH ¥ geaa [Option ID = 24685]

22) By the constitution in India at the state level, the executive power of the state is vested in?

YR TRIYT §RT I TR W I 3t dPR! e forad fAfgd 82 [Question ID = 13627]

1. Chief Minister / G&AHAT [Option ID = 24505]

2. Council of ministers / GAURYE [Option ID = 24506]

3. Governor / AR [Option ID = 24507]

4. Chief justice of the high court / 3= <IATd & qd grarefir [Option ID = 24508]

Correct Answer :-
« Governor / TR [Option ID = 24507]

23) Action Research implies

TR T &1 31ef 8 [Question ID = 13711]

1. Validating the theory / RIGId &1 AT H=1 [Option ID = 24844]

2. Studying the standard methods / AHS db! BT 3T [Option ID = 24841]

3. Studying one's own practice to improve it / Y S8R §9H & e fooddt & Ya & ST BT 3T HRAT [Option ID = 24843]
4. Experimenting with the newer ideas / -TT fqart & a1y v [Option ID = 24842]

Correct Answer :-
« Studying one's own practice to improve it / 38 SgdR & o oY fdlt o Ga &b 3T HT 37T AT [Option ID = 24843]

24) In the context of email,What is ‘Spam’?

AT & He |, A" FT1 82 [Question ID = 13640]

1. The act of overloading an email server by using denial of service attacks / JdT T ¥ STHR FRb Th SHA TR DI AT
P BT B [Option ID = 24558]

2. A large quantity of messages that do not reach to recipient. / &1 T H T S UTdhdl deb -Ta] Ugdd & | [Option ID =
24560]

3. Unsolicited advertising sent to a large number of recipients. / a1 TBIT H U diafl BT 9 T 3raifesd fagmo=11 [Option ID =
24557



4. E-mail messages that are infected with viruses / 3-Ud e Ol I-RY ¥ Gehiid gld H [Option ID = 24559]

Correct Answer :-

» Unsolicited advertising sent to a large number of recipients. / EI@BI e § v diat B Wt Y Sraifed fagmae | [Option ID
= 24557]

25) How do you define language, answer the correct choice.

3T YT ) A TRHTRT Hd &, T&) faped &1 w1a19 1 [Question ID = 13713]

1. Medium to express experiences / 3Hal & Sad B &1 ATLH [Option ID = 24851]

2. Medium for self enhancement. / &naqq@ & foQ AreH| [Option ID = 24852]

3. Instinctive development / g9l fd® I [Option ID = 24849]

4. System of Symbols for effective communication / THTE TR & fore Uil ot qunat [Option ID = 24850]

Correct Answer :-
» Medium to express experiences / Gﬁll?ﬁ P I B BT AR [Option ID = 24851]

26) Indian Home Rule League of Tilak was launched in the year?

foae ot URdR 819 ¥ dRT &1 JURY fSar T ar 2
[Question ID = 13622]

1. August 1916 / 3T 1916 [Option ID = 24488]
2. April 1916 / 30T 1916 [Option ID = 24486]

3. April 1919 / 30 1919 [Option ID = 24485]

4. June 1916 / S 1916 [Option ID = 24487]

Correct Answer :-
e April 1916/ 30 1916 [Option ID = 24486]

27) ICSSR stands for

ICSSR T W& 8- [Question ID = 13691]

1. Indian Conference of Social Sciences Research / JTHIE fARM SIHTH HT YR T [Option ID = 24763]
2. Indian Centre for Science and Society Research / YR fagm SiR TSt ST G [Option ID = 24761]

3. Indian Council for Science, Society and Rehabilitation / HRdd fasH, THIS 3R Y-afd gRkwg [Option ID = 24764]
4. Indian Council of Social Sciences Research / HRed JrHToI® fagm™ ST Rug [Option ID = 24762]

Correct Answer :-
« Indian Council of Social Sciences Research / HRdId ATHTSIS a3 STHYUT uRug [Option ID = 24762]

28) Fill the blank
is a process of Information.

RSB RTN
I 1 T ufesan 81 [Question ID = 13668]

1. CD-ROM / HT&1-311 [Option ID = 24670]

2. Books / J&Tdb [Option ID = 24669]

3. None of these / $TH ¥ ®Is g1 [Option ID = 24672]
4, Computers / R [Option ID = 24671]

Correct Answer :-
« CD-ROM / HI81-3 [Option ID = 24670]

29) NAAC is an autonomous institution under the aegis of

NAAC fafafaa & erer # U WaTa< TR @ [Question ID = 13681]



1. ICSSR / 3{TSHITHTHSIR [Option ID = 24721]
2. UGC / gt ¥, [Option ID = 24724]

3. CSIR / V.09 3715, 3R. [Option ID = 24722]
4. AICTE / USTSHICTE [Option ID = 24723]

Correct Answer :-
+ UGC / g,Sft.&. [Option ID = 24724]

30) which of the following region is in the very high risk zone of earthquakes?

YU & ggd 3o Way a1 &7 § Fufaf@a & @ @19 31 83 82 [Question ID = 13684]

1. Central Indian Highland / @Eﬁ[ 3f&T E’I%ﬁ?; [Option ID = 24733]
2. Coastal region / T¢I &3 [Option ID = 24734]

3. Indian desert / YR AR [Option ID = 24736]

4. Himalayan region / REISRIEE] [Option ID = 24735]

Correct Answer :-
» Himalayan region / feaTerdt &= [Option ID = 24735]

31) The force keeping the heavenly bodies in their respective place is known as:

it el @) 37 YR M R a1 918 94 & U A ST 9141 8: [Question ID = 13699]

1. Frictional / Gay-Hdeft [Option ID = 24795]
2. Gravitational / Wﬁ [Option ID = 24796]

3. Kinetic / ®T8Ac® [Option ID = 24794]
4. Oscillatory / 3{ITICIRI [Option ID = 24793]

Correct Answer :-
« Gravitational / T[S [Option ID = 24796]

32) Use of any ordinary telephone as an internet application is called?

ge3e TR & FU § fBdt oft "ruror Seftwi= &1 SuTT Fer ST 82
[Question ID = 13669]

1. Voice telephone / GI9d TAll®IM [Option ID = 24674]
2. Voice line / 3o @R [Option ID = 24675]

3. Voice net / 31a9 A< [Option ID = 24673]

4. Voice portal / 799 UI¢d [Option ID = 24676]

Correct Answer :-
« Voice line / 9199 @13 [Option ID = 24675]

33) Tamil Nadu coastal belt has drinking water shortage due to

aftrearg adla aee § R % ot 9 Hft HT FRUT R
[Question ID = 13670]

1. Seepage of sea water / EH?& S &1 R [Option ID = 24680]

2. High evaporation / 3= di¥I&RUT [Option ID = 24677]

3. Sea water flooding due to tsunami / ﬁ?ﬂ:ﬁ & HRU T ol T R ST [Option ID = 24678]

4. Over exploitation of ground water by tube wells / Wtﬁ GRT Yol DT i qreA [Option ID = 24679]

Correct Answer :-
o Seepage of sea water / ?l'ﬂ?ff S &1 R [Option ID = 24680]

34) Indian space vehicle Mangalyyan has been launched from a centre, which is named after



YR SAfRe a1 W= &1 b Dg A di-d fbdT T 7, for9&T 19 & [Question ID = 13693]

1. Vikram Sarabhai / fasH IRTHTS [Option ID = 24769]
2. Indira Gandhi / $fa=T it [Option ID = 24770]

3. SatishDhawan / Tl @ [Option ID = 24771]

4. Homi J. Bhabha / BIHt . {THT [Option ID = 24772]

Correct Answer :-
« SatishDhawan / F<li=T €@ [Option ID = 24771]

35) Fair and free election means

freger 3R T AT BT Waad 8 [Question ID = 13671]

1. Transparency / URGRIdT [Option ID = 24681]

2. Regional considerations / PPIUATEIN [Option ID = 24683]

3. To maintain law and order / ST 3R TR Y WG & feIT [Option ID = 24682]
4. Role of pressure groups / GdId ?ﬂﬂﬁf Gl @Hﬂ [Option ID = 24684]

Correct Answer :-
« To maintain law and order / T 3R TG §TT W & oW [Option ID = 24682]

36) The practice of conducting a long-term, detailed study of a community is known as

ot aer & SderdF, fiwgd sreaaa ¥ a1 ®) T o1 @ [Question ID = 13710]

1. Philology / HTNTRIR [Option ID = 24840]

2. Epistemology / FHIARIT [Option ID = 24839]
3. Eugenics / ol [Option ID = 24837]

4. Ethnography / Jd=Ifa3 [Option ID = 24838]

Correct Answer :-
« Ethnography / J4IfaH [Option ID = 24838]

37) Who is the chairman of Niti Aayog?

Hifa ST & 3ree v 82
[Question ID = 13628]

1. Finance Minister / fa< T3t [Option ID = 24511]

2. Prime Minister / T&T 3T [Option ID = 24510]

3. Vice — President / SU-IRUfd [Option ID = 24512]
4. President / TTQE}IT?T [Option ID = 24509]

Correct Answer :-
« Prime Minister / 9 31 [Option ID = 24510]

38) Who was the first education minister of India after Independence?

74T & 91¢ HIRA & U e v :i a2
[Question ID = 13689]

1. Dr.ZakirHussain / ST. &R § [Option ID = 24754]

2. Dr.Radha Krishnan / ET.QT%HW [Option ID = 24753]
3. Dr.Rajendra Prasad / SIS UG [Option ID = 24756]
4. Maulana Azad / HIGHT 3{TSTE [Option ID = 24755]

Correct Answer :-
« Maulana Azad / HISTHT 3{TSlTE [Option ID = 24755]



India’s first district cooling system will come up in which of the following cities

YR &1 ygar foran fiaast yomedt Frafafad 2esl § | us & e [Question ID = 13643]

1. Chennai / EEE] [Option ID = 24572]

2. Gwalior / TaTfIER [Option ID = 24569]

3. Hyderabad / 8cRTaTE [Option ID = 24570]
4. Amravati / 3fFRTAdT [Option ID = 24571]

Correct Answer :-
« Amravati / 3FRIGd! [Option ID = 24571]

40) India’s first 100 percent computer literate village is

YR T U8l 100 UfARId HEex HI&R Td & [Question ID = 13667]

1. Sasamosa (Bihar) / ST (f98R) [Option ID = 24666]

2. None of the these / 318 ¥ PIs Tal [Option ID = 24668]

3. Chamravattam village (Kerala) / El'l:ITIEIS'ﬁlTI"I'q’ (W) [Option ID = 24665]
4, Guru Nagar (Punjab) / ¥ 'R (UGTd) [Option ID = 24667]

Correct Answer :-
« None of the these / 378 ¥ &3 gl [Option ID = 24668]

41) How much percentage of GDP spends on education in India?

YRd # e v oft. Y. f.a1 far ufawe @< glar g2
[Question ID = 13648]

1. Less than 4 percent / 4 gfasd ¥ &4 [Option ID = 24592]

2. 6 percent / 6 UfdNd [Option ID = 24591]

3. 10 percent and above / 10 gfasd ¥ 3ifd®w [Option ID = 24589]
4. 12 Percent / 12 Ufdsd [Option ID = 24590]

Correct Answer :-
« Less than 4 percent / 4 UfdSd ¥ &H [Option ID = 24592]

42) What is the % of seats reserved for admission to Private school for children belonging to EWS category in RTE
(2009).

RTE (2009) ¥ EWs it & Waftra = & forg fAoht voa # wawr & fore smrféra e &1 % @1 81 [Question ID = 13716]

1. 0.15 / 0.15 [Option ID = 24862]
2. 0.25 / 0.25 [Option ID = 24864]
3.0.1/ 0.1 [Option ID = 24861]
4.0.2 /0.2 [Option ID = 24863]

Correct Answer :-
e 0.25/0.25 [Option ID = 24864]

43) What is true about education policy of 1986

1986 @1 f1arm fify & IR & =1 T4 § [Question ID = 13706]

1. Education for Equality / THAT & g fRI&T [Option ID = 24823]

2. Secondary Education for All / gt & foru Arenfires fren [Option ID = 24824]
3. Higher Education for All / Tt & falT 3= f1efm [Option ID = 24822]

4. Primary Education for All / T3t & forq tmufires fRref [Option ID = 24821]

Correct Answer :-
« Education for Equality / ST & T fRI&T [Option ID = 24823]



44) Formal Education corresponds to

3ftueiye fRigm & A Wil @ [Question ID = 13676]

1. Systematic and organized form of Education. / e o1 sgafRya SR fed FU| [Option ID = 24703]
2. None of these. / 390 ¥ ®Is gl [Option ID = 24704]

3. Only Primary Education. / ad Urdffie fR1ef| [Option ID = 24701]

4. Correspondence and open learning. / UARR 3R QFﬁ fRr&f1 [Option ID = 24702]

Correct Answer :-
« Systematic and organized form of Education. / fRrefT &1 saafRud 3R ¥nfdd =U| [Option ID = 24703]

45) Rafale Fighter is a product of

AP d PBIge fPHBT U IATE § [Question ID = 13697]

1. Airbus / TIREH [Option ID = 24785]

2. Augusta Westland / SITRdT CRaVES [Option ID = 24787]

3. Dassault Group / S9le g [Option ID = 24788]

4. Eurofighter Jagdfluzeug GmbH / g{\lbblsce vl*ldtkj,\?l‘l GmbH [Option ID = 24786]

Correct Answer :-
« Dassault Group / S9lec FYg [Option ID = 24788]

46) Identify the aim of Digital India

feforea sfear & @eg ) yg=fAd | [Question ID = 13647]

1. All of these are correct / Iugspd Tt T&) 81 [Option ID = 24588]

2. To ensure efficiency and transparency / ®TRiceidT TaH IRERIAT & AT HAT1 [Option ID = 24587]
3. To promote digital literacy / f&fSTea TeRar &1 T# [Option ID = 24586]

4. To set-up digital infrastructure / fSfSTed Sr@aERaHT RITUT HRATI [Option ID = 24585]

Correct Answer :-
« Al of these are correct / 3Ugshd it &t 81 [Option ID = 24588]

47) ‘Agriculture’ comes under-

P f&He Siaia 31T 8- [Question ID = 13658]

1. Secondary sector / HTeOfH &3 [Option ID = 24629]

2. Secondary sector is correct / ATEAH® & T § [Option ID = 24631]
3. Tertiary sector / ﬂ'cﬂl'la? RE] [Option ID = 24630]

4. None / ®Is gl [Option ID = 24632]

Correct Answer :-
« None / 313 T8I [Option ID = 24632]

48) Green Banking means —

W 3% &7 31 B - [Question ID = 13633]

1. None of these / 371 T I3 gl [Option ID = 24532]

2. Redevelopment of forests by Banks / ol gR1 T BT Tﬁﬁ?m [Option ID = 24529]

3. Financing of environment friendly projects by Banks / S gRT UaTaRUl & 3% URAISHISH 3T faaIsor [Option ID = 24530]
4. Financing of Irrigation projects by Banks / doi gr1 =g ufarsrrstt &1 fauiyor [Option ID = 24531]

Correct Answer :-

 Financing of environment friendly projects by Banks / bl gRT ygiaRur & 3Jpd gRareTef %1 faxaiyor [Option ID =
24530]

49) At present — India is following?



FAA H - YR = 39T 872
[Question ID = 13631]

1. Pegged up exchange rate / faffma &) DI 9GT IR [Option ID = 24523]
2. Pegged Down Exchange Rate / faf#d & °eT ®R [Option ID = 24524]
3. Fixed Exchange rate / 3@ faf9a &R [Option ID = 24521]

4. Floating Exchange Rate / TAfeT fafma = [Option ID = 24522]

Correct Answer :-
« Floating Exchange Rate / TlIfeT fafiHa &R [Option ID = 24522]

50) The term of the Advocate General of State is ?

I P TSAIdhe e BT HIUPTA 82 [Question ID = 13675]

1. Not fixed / ff3d &Y 81 [Option ID = 24700]

2.5 Years / 5 9§ [Option ID = 24698]

3. 4 years / 4 94 [Option ID = 24697]

4. 6 Years or 65 years of age whichever is earlier / 6 ¥ IT 65 a4 B! 3 oIt +ff UG BT [Option ID = 24699]

Correct Answer :-
« Not fixed / ff3d €Y 81 [Option ID = 24700]

51) Election of Rural and Urban local bodies are conducted and ultimately supervised by

Trfior 3R et R et & gATa Smaifore fPT o § 3R Side: 39 3@ B i @ [Question ID = 13683]

1. District Collector and District Magistrate / fSTelT @aidex 3R @ AfSRee [Option ID = 24731]
2. Concerned Returning Officer / Tafdra fef i) [Option ID = 24732]

3. Election Commission of India / HRd T g-1d ST [Option ID = 24729]

4. State Election Commission / IId -1 ST [Option ID = 24730]

Correct Answer :-
» State Election Commission / XIs9 g-T1d STIRT [Option ID = 24730]

52) Which of the following institution is linked to non-formal system of school education?

fFrafafaa 3 ¥ $19 @ G @ Rien @) R-siuive yumeht | 91 32 [Question ID = 13719]

1. NIOS / T3{TS3iTH [Option ID = 24873]
2. PMAY / HieHUaTs [Option ID = 24876]
3. NCTE / T1.3).¢1 .. [Option ID = 24874]

4. AICTE / U3T3HIcIg [Option ID = 24875]

Correct Answer :-

« NIOS / TH3MTS3TY [Option ID = 24873]

53) Vernal Equinox happens on
g gf@ieg glaT 8
[Question ID = 13696]

1. 20th March / 20 HTd [Option ID = 24781]

2. 22 September / 22 fdeR [Option ID = 24783]
3. 23rd September / 23 RidaR [Option ID = 24784]
4. 21st March / 21 o [Option ID = 24782]

Correct Answer :-
« 21st March / 21 A/ [Option ID = 24782]



Cell sapisa

PSP 54 § TP.... [Question ID = 13642]

1. Living content of the cell / PHIV BT Slifad Gt [Option ID = 24565]

2. Living content of the cytoplasm / ®ITesT G B1 Siifad WHUT [Option ID = 24568]

3. Non- living content of the vacuole / Rfdaer &t 1R Shfaa areh [Option ID = 24566]

4. Non- living content of the protoplasm / WTeI@iToH &1 TR-Siifdd IR [Option ID = 24567]

Correct Answer :-

« Non- living content of the vacuole / RfadT &t TR Sfifad IEf [Option ID = 24566]

55) Ryotwari system was introduced by the lord?

Taar! yore fead gR1 = @1 T8 oAt 2
[Question ID = 13625]

1. Hastings / 8f%¥ [Option ID = 24498]
2. Munro / §-RI [Option ID = 24500]
3. Wellesley / 9Q [Option ID = 24499]
4. Clive / F@T3d [Option ID = 24497]

Correct Answer :-
e Munro / Hﬂff [Option ID = 24500]

56) Hypothesis is a

¥ eUT U § [Question ID = 13708]

1. A tentative answer / T& §HT[dd STd1d [Option ID = 24830]

2. A statement of the problem / JoE13fl 1 UH S [Option ID = 24831]

3. Test of methods / faf¥rdl T TRI&T [Option ID = 24829]

4. A hit and trial guess of the solution of the problem / JHJT F AT BT TP f3e 3R I 3{IHIT [Option ID = 24832]

Correct Answer :-
» A tentative answer / Tdh THifad Siare [Option ID = 24830]

57) National Policy on Older Persons were brought into operation in

9 afeaal @1 AP ifa S Hare # @R 7491 [Question ID = 13715]

1. 2009 / 2009 [Option ID = 24859]
2. 2019 / 2019 [Option ID = 24860]
3. 1999 / 1999 [Option ID = 24858]
4.1979 / 1979 [Option ID = 24857]

Correct Answer :-
e 1999 / 1999 [Option ID = 24858]

58) National Legal services Authority vs. Union of India (NALSA) addressed the rights of which of the following
groups?

AP ST a1 W1 §1H HRA W9 (NALSA) A Fafifea 9 @ fora agg & sftrer) #1 daifta far? [Question ID
= 13721]

1. None of these / TIH Q BIs T8l [Option ID = 24884]

2. Transgender / TiISiex [Option ID = 24881]

3. Sex workers / ¥& g&R [Option ID = 24882]

4. Injecting Drug users / S SUURTHATST BT SOIaRIA TMT [Option ID = 24883]

Correct Answer :-
« Transgender / TS8R [Option ID = 24881]



59) Inductive reasoning means

IR® a& &7 3 § [Question ID = 13712]

1. Using observation to prove theory / fIgid g #%3 & AT 3/@die- BT STANT HAT [Option ID = 24846]

2. Using theory to prove assumptions / A3 B ATfad dRA & [T RIGId BT START HAT [Option ID = 24848]
3. Using theory to prove observation / /@@ Rig H & T R &1 IUTNT H=A1 [Option ID = 24845]

4. Using assumptions to prove theory / RIgid ! g ®%= & T A3 ST START BT [Option ID = 24847]

Correct Answer :-

« Using observation to prove theory / Rigid Rig &+ & [T 3/adid-1 dT SUART AT [Option ID = 24846]

60) Full name of ‘SWAYAM' is to-

"TAH’ BT QR AW &-

[Question ID = 13649]

1. Sell web based active young aspiring macro group. / Id d9 IS Tacid 47T THUshaT A YU [Option ID = 24596]

2. Study webs of accurate young aspiring management / TS} 58 3{Tth TR 7T THUTSRAT AASTHe [Option ID = 24593]

3. Study webs of active learning for young aspiring mind / W8} =8 3{1th Tacd AT BR 47 THUTZRAT HigS [Option ID = 24594]

4. Self-web based actual learning for youth and macro group / Yoh-dd I8 T3 T BR ?3:['3{ S el U [Option ID =
24595]

Correct Answer :-

« Study webs of active learning for young aspiring mind / 8! F& 3Tt TacId AT HIR I THUISRAT AIZS [Option ID =
24594]

61) Full name of 3 Rs is to —

3RsHIRTAME |
[Question ID = 13652]

1. Reading, Writing and Arithmetic / 'fr%'ﬂ, el U srfAfes [Option ID = 24608]

2. Reading, rights and reconstruction / &7, Igcd T8 fagar [Option ID = 24607]
3. Reading, right and reconstruction/ﬁ%ﬂ, 3¢y T8 ﬁﬂg&i’ﬂ [Option ID = 24606]
4. Reach, right and reconstruction / 3, I13¢ T8 AH¥gaRM [Option ID = 24605]

Correct Answer :-
« Reading, Writing and Arithmetic / &7, Igf&T Ts srfAfess [Option ID = 24608]

62) Chandragupta II was the son of the emperor?

e fgdta g ur?
[Question ID = 13624]

1. Vikramaditya / fassH1fa@ [Option ID = 24495]

2. Rama gupta / ITHIW [Option ID = 24496]

3. Samudragupta / T4 T/ [Option ID = 24493]
4, Skanda Gupta / ¥h< T [Option ID = 24494]

Correct Answer :-
« Samudragupta / I T[T [Option ID = 24493]

63) ‘BetiBachao, BetiPadhao’ Scheme associated with-

"¢ FETeh, 9 versi diern o | fred g8t @

[Question ID = 13663]



1. Health Ministry / T0TRY T3 [Option ID = 24652]

2. Ministry of women and child Development / Al Td §TdT fas ™I HATAT [Option ID = 24650]
3. Ministry of social empowerment / ISR ARG B0 AT [Option ID = 24651]

4. H.R.D Ministry / Td.3{R. S HAT [Option ID = 24649]

Correct Answer :-
« Ministry of women and child Development / Afg@l Td &Td fasr HATA@T [Option ID = 24650]

64) '‘Bulletin’ may define as-

gafesT # aRvurfya fosar < wwar @
[Question ID = 13657]

1. Matter of public importance / QTaSHd Hg &I fa¥g [Option ID = 24628]

2. Draft of law / ST &I FIGT [Option ID = 24625]

3. Judicial examination / =TI TRI&T [Option ID = 24627]

4. Paper which used in secret issue / DTS S RIS H’sﬁ T g Srar g [Option ID = 24626]

Correct Answer :-
« Matter of public importance / TTdWHd% Hg@ &1 a4 [Option ID = 24628]

65) The main drawback of lecture is that

TSI &1 & GIY I% & [Question ID = 13695]

1. The students get bored and become inattentive consequently / 91 $d EIGKREIRN 3% URUMARGEY [{TaeT 8l S g [Option
ID = 24777]

2. The students get readymade answers and become lazy / TE DI ISHS IR e § iR 9 3imerf g1 o & [Option ID =
24778]

3. The students get engaged in taking notes and become tired / ¥ :hﬂ A H U 81 9§ SR Y ITd © [Option ID = 24780]

4. The students become passive receivers and do not think / BT %R fREfiar 59 o1 § 3R W =8t € [Option ID = 24779]

Correct Answer :-
« The students become passive receivers and do not think / BT fAfer Rfiar 57 od & 3R Irard =78t § [Option ID = 24779]

66) HDI (Human Development Index) is an aggregate measure of progress in which of the three dimensions?

TSt3TE (AT e gawie) wWifa & @9 smarel # | TP 82 [Question ID = 13635]

1. Food security, employment, income / Tl JR&fT, JISHTR, 3T [Option ID = 24538]
2. Health, Education, Income / ¥dR7, ﬁf&ﬂ, 3{1T [Option ID = 24537]

3. Height, Weight, Colour / 3dTs, 4R, 3 [Option ID = 24540]

4. Agriculture, Industry, Services / Ep‘fﬁ, B?ﬂT[, Jarg [Option ID = 24539]

Correct Answer :-
o Health, Education, Income / ¥y, f?[&ﬂ, 31T [Option ID = 24537]

67) About PMUY

PMUY & SR # [Question ID = 13705]

1. Reducing the dependence of poor people on wood for cooking food. / QTT UhTH CANIY ﬂdosnl R TRe @ ot R & &9
S| [Option ID = 24817]

2. Reducing the consumption of electricity by poor people. / TR ATl gRT fooTelt 1 Wud &1 &H ST [Option ID = 24820]

3. Accessing housing schemes of the Government / TR®R Bt AR AroTH T Ugd [Option ID = 24819]

4. Helping people earn more by acquiring new skills / T DI U HRP AN T P HHM H Aeg Bl [Option ID = 24818]

Correct Answer :-

» Reducing the dependence of poor people on wood for cooking food. / Q1T UM & [ SCASRCRRINE] Tl @t FalRar &t
HH HRATI [Option ID = 24817]



68) What advantages to objective type test have over essay tests?

ey THienr @ Ty PR & U F w1 B 82
[Question ID = 13638]

1. They take less time to prepare / 32 R B H BY IHY T 8 [Option ID = 24552]

2. They require less technical knowledge / I HH qHAID! I DI ATTIHT Bl § [Option ID = 24550]
3. They are easier to interpret / 3P| RS HRAT T § [Option ID = 24549]

4. The sampling content can be wider / HAT it SIS g T % [Option ID = 24551]

Correct Answer :-
« The sampling content can be wider / T Tt TUH B Tavell & [Option ID = 24551]

69) Which of the following is an informal rural institution?

frafafaa & 9 o9 v Eu=iYe ariior TAT 82 [Question ID = 13677]

1. Family / gRaRr [Option ID = 24706]

2. None of these / 395 ¥ P13 A8l [Option ID = 24708]
3. Youth club / ¥ & [Option ID = 24707]

4. VillagePanchayat / UM U [Option ID = 24705]

Correct Answer :-
« Family / URAR [Option ID = 24706]

70) Which of the following would not tend to increase the population of a country?

fFrafafaa & ¥ $19 3z @) S==ien # gf 78 $1m? [Question ID = 13679]

1. Fall in the death rate. / §g & § fR1@c| [Option ID = 24714]

2. Increase in average age of marriage. /ﬁiﬂ's’ CARCIR | 31T§ff Q@I [Option ID = 24715]
3. Increase in birth rate. / 5/ & H f{@l [Option ID = 24713]

4. Increase in immigration. / 3Tds— 2| Q@I [Option ID = 24716]

Correct Answer :-
« Increase in average age of marriage. / fadTg @1 3fgd 3mg & gfS | [Option ID = 24715]

71) Which of the following article of the Indian Constitution deals with the impeachment of the President?

R \@fdur $1 FrafafEa § @ o a1 a@ agufa & wg1fiaiT & 96fid 82 [Question ID = 13629]

1. Article 61 / 3¢ 61 [Option ID = 24515]
2. Article 59 / 3@ 59 [Option ID = 24516]
3. Article 60 / 3FJ=¢ 60 [Option ID = 24513]
4. Article 65 / 335G 65 [Option ID = 24514]

Correct Answer :-
e Article 61/ &Iﬂ%_c{ 61 [Option ID = 24515]

72) Which of the following is the part of Tertiary sector?

fFrafafEa & @ $19 gdtae &7 &1 T 82 [Question ID = 13632]

1. Cotton manufacturing / 9T fafA#for [Option ID = 24527]

2. Cultivation of crops / Bl ot Wt [Option ID = 24528]

3. Power and transportation / fSsTeft 3R fk@g= [Option ID = 24525]
4. Animal Husbandry / UR[UIST [Option ID = 24526]

Correct Answer :-
» Power and transportation / faoreft 3R uRagd [Option ID = 24525]

73) Which of the following was a training programme for Youth?



Y BT URRI&or Stk H fAafafad & | S99 |91 U1? [Question ID = 13717]

1. TCSEO / <IRfIegan [Option ID = 24868]

2. TRYSEM / &.3/R.a18.TY.5.UH [Option ID = 24867]
3. PMAY / U1.UH.U.4TS [Option ID = 24865]

4. Existing / TGS [Option ID = 24866]

Correct Answer :-
« TRYSEM / &.3/R.913.T9.5.UH [Option ID = 24867]

74) Which of the following pollutants can cause cancer in humans?

fFafafaa & Q $19 91 ugue a7l § IR BT SRV 99 JHdl 82 [Question ID = 13674]

1. Mercury / URT [Option ID = 24694]

2. Ozone / 3{ISTF [Option ID = 24696]

3. Pesticide / SIcTRI® [Option ID = 24693]
4. Lead / S [Option ID = 24695]

Correct Answer :-
+ Pesticide / PIc-TRI® [Option ID = 24693]

75) Which one is first digital state of India.

IR T UgalT $free 7T S 41 @ [Question ID = 13662]

1. Karnataka / @fcd [Option ID = 24645]
2. Tamilnadu /Hﬁ?l?l‘g [Option ID = 24646]
3. Kerala / @ [Option ID = 24647]

4. Delhi / faaeT [Option ID = 24648]

Correct Answer :-
« Kerala / % [Option ID = 24647]

76) Which of the UN Agency is involved with education of the people?

g 1Y P P W Told it B Rrem | J€1 82 [Question ID = 13714]

1. UNFPA / QE-UHUIY [Option ID = 24853]
2. UNDP / gu-TSIdl [Option ID = 24855]
3. UNESCO / g-%! [Option ID = 24856]
4. UNICEF / g{=9I% [Option ID = 24854]

Correct Answer :-
« UNESCO / g%®! [Option ID = 24856]

77) Which one of the following is a non-cereal crop?

frafaf@d § @ 919 H v 1R-3MT1r arelt B9 @ [Question ID = 13702]

1. Maize / Ha&PT [Option ID = 24805]

2. Rice / 91dd [Option ID = 24807]

3. Barley / STt [Option ID = 24806]

4. Sugarcane / 4T [Option ID = 24808]

Correct Answer :-
e Sugarcane / 4T [Option ID = 24808]

78) Which one of the following is not a major theme of new public administration?

fFrafafaa & ¥ S99 1 791 AP Y= &1 99E favg 981 82 [Question ID = 13641]

1. Relevance / UTEfiTesdT [Option ID = 24561]
2. Change / S&aTd [Option ID = 24562]



3. Neutrality / 3< id [Option ID = 24563]
4. Values / HIF [Option ID = 24564]

Correct Answer :-
o Neutrality / ARG [Option ID = 24563]

79) Which one is not considered as fundamental duties

Hifere wda P fore fFa R f=R €Y frar T&dr 8. [Question ID = 13655]

1. To safeguard public property / TTdsi-d Tl @1 JR&T & oY [Option ID = 24618]

2. To develop the scientific temper / TP THTE BT [T HAT [Option ID = 24620]

3. To express freedom of religion &exploitation / & 3R XTI T Td=dT B! SHad B P 1T [Option ID = 24619]
4. To defend the country / <=1 @1 I&T ®=AT [Option ID = 24617]

Correct Answer :-
» To express freedom of religion &exploitation / e} 3R VU1 Y WA B T B B fo [Option ID = 24619]

80) The National Bank of Agriculture and Rural Development (NABARD) was set up in

AP S 3R arivr fdHTH 9 (NABARD) Ft RITGAT F1 7% 2t [Question ID = 13688]

1. 1982 / 1982 [Option ID = 24751]
2. 1984 / 1984 [Option ID = 24752]
3. 1981 / 1981 [Option ID = 24750]
4.1980 / 1980 [Option ID = 24749]

Correct Answer :-
e 1982 /1982 [Option ID = 24751]

81) Krishnadevaraya was an emperor of which dynasty?

PG fHH 431 & JHTE A? [Question ID = 13623]

1. Sangama dynasty / TTTHT 4%T [Option ID = 24489]

2. Aravudy dynasty / 3RTdcl JTSIGYT [Option ID = 24492]
3. Sauva dynasty / a1 47 [Option ID = 24491]

4, Tuluva dynasty / gddT 92T [Option ID = 24490]

Correct Answer :-
« Tuluva dynasty / JgdT 9T [Option ID = 24490]

82) Recently India was invited as an Observer member to

BT9 8 # HIRd B! TP T4 e & = H ATHAd far 74T AT [Question ID = 13698]

1. BRICs / SI3fR3MsH [Option ID = 24791]
2. 0IC / 3N3MEt [Option ID = 24790]

3. ASEAN / 3{TRITT [Option ID = 24792]

4. OPEC / 3fiditsdt [Option ID = 24789]

Correct Answer :-
« OIC / 3fI3MsT [Option ID = 24790]

83) National Adult Education Programme was influenced from which of the Gandhiji‘'sscheme in

P e e srdwH wRa # widish 31 5w giemn & guifaa ur?
[Question ID = 13664]

1. Truth and Non violence / 9 3R i [Option ID = 24654]
2. Nai Taleem / 718 dTGiH [Option ID = 24653]
3. Non Co-operation movement / SN 3Higre [Option ID = 24655]



4. None of these / 398 ¥ ®ig wIg! [Option ID = 24656]

Correct Answer :-
« Nai Taleem / 93 QTciH [Option ID = 24653]

84) National Literacy Mission was started in —

YT ATeRaT A R e mar ur?
[Question ID = 13653]

1. 14t October, 1988 / 14 /@R, 1988 [Option ID = 24609]
2. 151 August 1988 / 15 3T 1988 [Option ID = 24612]

3. 8t September 1988 / 8 Ridar 1988 [Option ID = 24611]
4, 5t May 1988 / 5 Wi 1988 [Option ID = 24610]

Correct Answer :-
o 5th May 1988 / 5 Il'sc 1988 [Option ID = 24610]

85) Pilot study is done to

UIgde st 3 STt
[Question ID = 13709]

1. Improve the research plan / IH3I & HTYTH HT IS fee 3R <IId 3{IHIA [Option ID = 24836]
2. Collect basic data / HcT 3l S| P UHT T & ol [Option ID = 24833]

3. Try the reliability of the team / & @1 fayT=iaar &I Sfie= & e [Option ID = 24835]

4. Train the research team / Y ¢ &) TR 3 & ol [Option ID = 24834]

Correct Answer :-
« Improve the research plan / TH&IT & JHIHTT &1 T fe 3R AT SHM [Option ID = 24836]

86) Who of the following was associated with Auroville ?

A &1 day FRaferfaa A ¥ TR UT? [Question ID = 13720]

1. MalcomAdiseshiah / HTA®IH TSR [Option ID = 24878]
2. ] D Krishnamurty / S 3 $0Mfd [Option ID = 24880]

3. AurobindoGhose / 3RSl B [Option ID = 24879]

4. C.Rajgopala Chari / T}, JSWIOTAT IRY [Option ID = 24877]

Correct Answer :-
« AurobindoGhose / 3Rfdal €% [Option ID = 24879]

87) Panchayati raj system was started from

YETg ITST UARIT BT JAUTT §31T [Question ID = 13651]

1. Rajasthan / TSI [Option ID = 24602]

2. Jharkhand / SRS [Option ID = 24604]

3. Uttar Pradesh / 3R WcT [Option ID = 24601]
4. Andhra Pradesh / 3ff$f TIG=T [Option ID = 24603]

Correct Answer :-
» Rajasthan / IISTRYTE [Option ID = 24602]

88) Which is the anti-coagulant substance in Blood?

9 B TA-FI3M[Ae uerd S19 A1 82 [Question ID = 13637]

1. Thrombin / $If& [Option ID = 24545]



2. Globin / Talf§= [Option ID = 24546]

3. Fibrinogen / WIS [Option ID = 24547]
4. Heparin / 891 [Option ID = 24548]

Correct Answer :-
e Heparin / U [Option ID = 24548]

89) First page of Newspaper is called?

HHTAR U BT Ygdl Y8 Pel SIldl ? [Question ID = 13665]

1. Name board / FTH EIE] [Option ID = 24660]
2. Masthead / ARCaS [Option ID = 24657]
3. Nameplate / T [Option ID = 24659]
4. Skyline / GPTSATSH [Option ID = 24658]

Correct Answer :-
« Nameplate / FH®IC [Option ID = 24659]

90) The main source of irrigation in India is -

yRd ¥ Riars &1 e 9 8-
[Question ID = 13650]

1. Tanks /aTeTe [Option ID = 24598]
2. Canals / &3 [Option ID = 24599]
3. All are correct / T+t Tt & [Option ID = 24600]

4. Wells and Tube wells / T 3R T [Option ID = 24597]

Correct Answer :-
« Wells and Tube wells / F7 3R I [Option ID = 24597]

91) The forest research institute is located in which of the place?
T ATHYT I R 7 2
[Question ID = 13630]

1. Bhopal / HIUTe [Option ID = 24518]

2. Lucknow / @3 [Option ID = 24519]
3. Dehradun / S8R [Option ID = 24517]
4. Delhi / f&edt [Option ID = 24520]

Correct Answer :-
« Dehradun / G& a1 [Option ID = 24517]

92) The full name of ‘SWOT' is to —

SWOT ‘ST RTATH § -
[Question ID = 13659]

1. Secure, wealth overcome threats / ﬁIERIﬁT, JRITaTFAR Y [Option ID = 24635]

2. Strengths, weakness, overcome, technique / &=, a4, 3ilaR&H i [Option ID = 24634]
3. Strengths, weakness, opportunities. Threats / QW, ﬁaﬁ;r, Gﬂvqffc'ﬁﬂ?ﬁ [Option ID = 24633]
4. Secure, wealth, opportunity, technique / RIFIR, aw, siffefdi®, 2ot [Option ID = 24636]

Correct Answer :-
« Strengths, weakness, opportunities. Threats / ¥=4¥, fa®w¥, sffafefd® [Option ID = 24633]



93) The National Policy of Education was approved by the Government of India in the year

HRT TPR g1 fo adf # Rran 1 wfta Hifa 1wt & v f
[Question ID = 13686]

1. 1986 / 1986 [Option ID = 24741]
2. 1983 / 1983 [Option ID = 24744]
3. 1984 / 1984 [Option ID = 24743]
4. 1985 / 1985 [Option ID = 24742]

Correct Answer :-
e 1986 / 1986 [Option ID = 24741]

94) At which of the following Harappan sites, an inkpot has been discovered

frafafea # 4 19 A gsud dl # A U § U WIg) T 3 @IS S T8 8
[Question ID = 13645]

1. Lothal / TIUd [Option ID = 24578]

2. Chanhadaro / T==TSRI [Option ID = 24580]
3. Kalibangan / STd&TT [Option ID = 24579]
4. Harappa / SWI [Option ID = 24577]

Correct Answer :-
« Chanhadaro / 97T [Option ID = 24580]

95) The scheme of Government assisting the small entrepreneurs under MSME is

THUIUAS & dgd Bic SUMHUl B HETadl H4 aTell IIPR B! AIeHT @ [Question ID = 13700]

1. PMMY / UTTHTRETS [Option ID = 24798]
2. NTM / TITH [Option ID = 24800]

3. Jan-dhan / SI9-Y- [Option ID = 24797]
4. ABY / TSlaT8 [Option ID = 24799]

Correct Answer :-
e PMMY / m@@aﬁc [Option ID = 24798]

96) As per 2011 census, the literacy rates in rural and urban areas of country stands at

2011 P} STIUFT & AR I & IEA0T 3R et &= A HIgRT &R FH 3 [Question ID = 13636]

1. 69.2% and 78.9% / 69.2% 3TR 78.9% [Option ID = 24544]

2. 70.3% and 83.1% respectively. / $HRT: 70.3% 3R 83.1%| [Option ID = 24541]
3. 67.8% and 84.1% respectively / PHRI: 67.8% 3R 84.1% [Option ID = 24542]
4. 65.3% and 82.6% respectively / PHRI: 65.3% 3R 82.6% [Option ID = 24543]

Correct Answer :-
» 67.8% and 84.1% respectively / PHRI: 67.8% 3R 84.1% [Option ID = 24542]

97) Who is the head of the CBDT panel to help bring down tax litigation?

TR YHGAIS Bl $H HIA § Heg H & g At 39¢ $T1 WA Hi9 82 [Question ID = 13644]

1. Sanjeev Sharma / Isfid T [Option ID = 24573]
2. Varun Jain / 980T S [Option ID = 24575]

3. K S Das / & Td &M [Option ID = 24576]

4. Mohit Kumar / Hfgd $HR [Option ID = 24574]

Correct Answer :-
« Sanjeev Sharma / Tsitd XM [Option ID = 24573]



98) Who is the ‘lender of the last resort’ in the banking structure of India?

YR & dfdhw g # SifaH U $71 'BUICET HIH 82 [Question ID = 13646]

1. State bank of India / YRdld e §& [Option ID = 24581]

2. EXIM bank of India / HRd &1 EXIM CCg [Option ID = 24583]

3. Union bank of India / {0 dd& 3ffts 2f&aT [Option ID = 24584]
4. Reserve Bank of India / HRdIg f¥s/d s [Option ID = 24582]

Correct Answer :-
« Reserve Bank of India / HR<T R/d s [Option ID = 24582]

99) Who is the web Inventor?

39 ATFAHRS P 82 [Question ID = 13666]

1. Tim Berners Lee / fer a1 &t [Option ID = 24661]
2. Bill Gates / ﬁmﬁw [Option ID = 24662]

3. Stallman / e [Option ID = 24663]

4. Charles Babbage / IT& S99l [Option ID = 24664]

Correct Answer :-
« Tim Berners Lee / feT §94 <ff [Option ID = 24661]

100) The government of India conducts census after every ten years. The method of research used in this process
is

YRT TRPR g ¢4 ATd & 1G FA-NTUHT Hedl 8 | 39 uferar § wgad srgeer &t faft @ [Question ID = 13687]

1. Developmental study / fawraTE® sremaq [Option ID = 24746]
2. Survey / TA&UT [Option ID = 24747]

3. Case study / UhUT Y- [Option ID = 24745]

4. Experimental / e [Option ID = 24748]

Correct Answer :-
e Survey / d&or [Option ID = 24747]



